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Passage 1

Traditionally, universities have carried out two main activities: research and
teaching. Many experts would argue that both these activities play a critical role in
serving the community. The fundamental question, however, is: how does the
community want or need to be served?

In recent years universities have been coming under increasing pressure from
both the governments and the public to ensure that they do not remain “ivory
towers” of study separated from the realities of everyday life. University teachers
have been encouraged, and in some cases constrained, to provide more courses
which produce graduates with the technical skills required for the commercial use. If
Aristotle wanted to work in a university in the UK today, he would have a good
chance of teaching computer science but would not be so readily employable as a
philosopher.

A post-industrial society requires large numbers of computer programmers,
engineers, managers and technicians to maintain and develop its economic growth
but “man”, as the Bible says, “does not live by bread alone.” Apart from requiring
medical and social services, which do not directly contribute to economic growth, the
society should also value and enjoy literature, music and arts. In these cost-conscious
times, it has even been pointed out in justification for the funding of the arts that they
can be useful for money earners. A successful musical play, for instance, can

contribute as much to the Gross National Product through tourist dollars as any other
things.

1. The main idea of the first paragraph is that
A. traditional universities do a good job serving the society
B. universities must meet the needs of the society
C. research and teaching are of great importance in universities
D. universities play an important role in our society

2. We can infer from the second paragraph that
A. the society is not satisfied with the present college educatlon
B. the government interfere too much with college education
C. teachers are forced to do what they don’t like to do
D. teachers dislike teaching commercially useful courses

3. The Aristotle example is used to make the point that
A. universities in the UK have produced too many good—for—nothmg graduates
B. such abstract subjects as philosophy is no longer useful
C. education should serve the social needs




D. it is advisable for today’s philosophers to know computer science
4. According to the passage, literature, music and arts
A. do not contribute to economic growth at all
B. are less useful to the society because they do not make direct contribution
economic growth
C. are similar to medical and social services in their way of promoting economic
growth
D. should develop only when they are good for economic growth
5. The author believes that .
A. art is useful only when it is made into a money earner
B. the promotion of economic growth is the only goal of today’s society
C. universities should not provide literature or art courses
D. the society needs both technical skills and arts

Words and Expressions

ivory towers R

constrain . SRiE; AfE

commercial adi. HLE

employable  adj. FHERBITIRY
contribute to REESHER; Tk BB

Aristotle THELLE

Literature n. P&

Gross National Product HEA > RE
Note

In recent years universities have been coming under increasing pressure from
both the governments and the public to ensure that they do not remain “ivory
towers” of study separated from the realities of everyday life.

Tk, BORAARA T KEBABENES . Ml B RK LR LR 1
1 R4,

Passage 2

When we speak of the family, we think of a husband and wife, their children,
and occasionally an extra relative. This is called the “nuclear family,” and its core
is the married couple. In comparison, the “extended family” is founded, not upon

the marital relationship of two people, but upon the blood relationship of a large
2



number of relatives. While we use the extended family pattern for family reunions
and other ceremonial purposes, our important family functions proceed on a nuclear
family basis. Our folklore warns against in-laws and urges the couple to set up their
own household. Our laws require a husband to maintain his wife in a home apart
from other relatives if she insists, and she sometimes does. Our laws require parents
to support their own children, but impose only slight obligation to care for their
parents, and no obligation to care for brothers and sisters, uncles and aunts, or other
relatives.

Whereas the nuclear family has a couple at its core, the extended family has a
group of brothers and sisters at its core. One’s principal responsibilities are toward
the family into which one was born, not the family into which one has married. In
such a family, affection and responsibility are widely shared among a large group of
people. Children are the joint responsibility of the entire family, and a child develops
a relationship with his aunts very like that with his mother. He is surrounded by
many adults, any of whom may act as parents toward him when necessary. The
family tends to turn out personalities with less individuality than ours, since each
child has more nearly the same socialization experience. Such a family protects the
individual against misfortune and loneliness, but offers little opportunity for
individuality.

1. The most suitable title of the passage would be
A. Characteristics of the Two Different Kinds of Families
B. The Extended Family will be Replaced by the Nuclear Family
C. The Nuclear Family Is No Better Than the Extended Family
D. How the Two Kinds of Families Came Into Being
2. Which of the following is true of the first paragraph?
A. In a nuclear family old people are not cared for at all.
B. A nuclear family has no functions except supporting the children.
C. A nuclear family can consist of only a husband and a wife.
D. A nuclear family cannot be founded if the wife does not insist that be
maintained by the husband in a home apart from other relatives.
3. It is inferred from the passage that
A. Both children and old people are better cared for in an extended family than
in a nuclear family
B. Members in an extended family have a greater sense of responsibility for the
family than those in a nuclear family do
C. Uncles and aunts have as much affection for children in an extended family
as parents do in a nuclear family
D. It seems easier for children growing up in an extended family to develop a
social nature

3



4. In this passage, we can infer that the law in the author’s country favors
A. an extended family B. arich family
C. a poor family D. a nuclear family

5. In a country with an agricultural economy, it would be more practical to belong to

A. a nuclear family B. an extended family
C. arich family D. a poor family
Words and Expressions

Relative n.  3EE

Core n Bl

Marital  adj. (i) 1BHE
ceremonial  adj. {XRHY; FANE
folklore  n. RElfER: Rig
obligation n. X%

individual n. A MK

Note

While we use the extended family pattern for family reunions and other
ceremonial purposes, our important family functions proceed on a nuclear family
basis.

RE& “I" XRE” MERGARSTRERSMHTHALMERR, RITWERHN
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Passage 3

Children display an amazing ability to become fluent speakers of any language
consistently spoken around them. Every normal human child who is not brought up
in virtual isolation from language use soon comes to speak one or more languages
natively.

The child’s acquisition of his native language is not dependent on any special
tutoring. Parents may spend many hours “reinforcing” every recognizable bit of
their child’s verbal activity with a smile or some other reward. But there is no
particular reason to believe that such activity affects the child’s ultimate success in
becoming a native speaker of his parents’ language. Children can pick up a language
by playing with other children who happen to speak it just as well as they can

through the concentrated efforts of doting parents. All they seem to need is sufficient
4



exposure to the language in question. v

This capacity for acquiring language is remarkable for a number of reasons. It is
remarkable first because of its uniformity throughout the human race. There simply
are no cases of normal human children who, when they are given the chance, fail to
acquire a native language. By way of comparison, it is not at all unusual for a child to
fail to master arithmetic, reading, swimming, or gymnastics despite a considerable
amount of instruction. Language acquisition, in other words, is species uniform.

It is also species specific. Every normal person learns a human language, but no
other animal, not even the most intelligent ape, has been shown to be capable of
making the slightest progress in this direction, although some animals can learn to
solve problems, use tools, and so on. Language acquisition thus appears to be
different in kind from acquisition of the other skills mentioned.

The progress is further remarkable for its comparative speed and perfection.
When we actually attempt to take a language apart to see how it works, we find it is
extraordinarily complex and it involves highly abstract organizational principles. Yet,
within the first few years of his life, every human child has succeeded in mastering at
least one such system. Furthermore, the linguistic system that the child masters is
identical to the one employed by the people around him. If children are regularly
exposed to two languages, they will very probably learn both; moreover, they will
succeed in keeping the two linguistic systems separate, which is a considerable
achievement in itself.

1. The key word in native language learning is
A. tutoring B. reinforcement
C. exposure D. concentration
2.The author compares learning a native language to learning arithmetic to show

A. that learning a language is a different kind of process
B. how unusual it is for the child to fail in either case

C. how normal children master both

D. that they both need a lot of instruction

3. When the author says that language is “species uniform” , he means that

A. animals cannot learn a language
B. all children learn the same linguistic system
C. all human beings learn a language
D. all the specific principles of different languages are the same
4. The fact that even the most intelligent ape cannot learn a language shows that
language learning .
A. is like solving problems B. requires training in skills



{

C. is species uniform D. is species specific
5. Since language is complex, it is remarkable that children____ .
A. compare their native language to other languages
B. learn their native language so quickly and so well
C. master one such system
D. learn the language for practical purposes

Words and Expressions

fluent adj. FFIE

isolation  n. R4

acquisition n.  3J18; %¥3
ultimate  adj.  BUGAY; MM
doting adj. BHBEHK

exposure n RE

linguistic  adj. IBEHEN; BEE¥EN
identical  adj. SE2HRIK

Note

Children can pick up a language by playing with other children who happen to
speak it just as well as they can through the concentrated efforts of doting parents.

BFMNTLES MR- E SO B FIRENEE TX TES. INEESE
MRSCEHIERSE AT M AR TXRE S R R — T,

Passage 4

In his later years, English scientist Charles Darwin (1809-1882) made a long
and careful study of earthworms. He had deep feelings of respect for these humble
creatures of the soil. This great man’s research taught us just how much earthworms
do for the health of our environment.

Earthworms are useful. Out of the ground, they are the food for other animals.
In the ground, they make rich soil for fields and gardens.

Earthworms dig tunnels that loosen the soil and make it easy for air and water to
reach the roots of plants. These tunnels help keep the soil well drained. The way an
earthworm digs tunnels depends on whether the soil is soft or hard. If the soil is soft,
the worm can push its way through easily. When a stone gets in the way, the worm
just pushes it aside. An earthworm can move a stone that is fifty times its own

weight! If the soil is hard, the worm eats its way through. It swallows the
6



earth. Earthworms drag dead leaves, grass and flowers into their burrows. When this
plant material decays, it makes the soil more fertile.

No other animal is so useful in building up good topsoil. It is estimated that in
one year fifty thousand earthworms carry about eighteen tons of fine soil to the
surface of an acre of land. One worm may add three quarters of pound of earth to the

topsoil in one year. Fifty thousand worms carry about eight tons of fine soil to the
surface in the same time.

1. The best title for this short passage is .
A. Fertilizing the Soil
B. How Earthworm Improve the Soil
C. Working Underground
D. How Earthworm Carry Topsoil
2. By digging tunnels, the earthworm helps to .
A. find food for other animals
B. carry water and air to the roots of plants
C. destroy the roots of the plants
D. destroy the weeds

3. The amount of topsoil that one worm may bring to the surface is about

A. three-quarters of a pound B. three pounds
C. a quarter of a pound D. eighteen pounds
4. The plant material carried under ground by earthworm makes soil
A. well drained B. more fertile
C. easier to plow D. uneven

5. This short passage says _____.
A. good crops will grow wherever there are earthworms
B. worms sometimes harm the soil
C. worms do a lot to improve the soil
D. worms are most useful as food for other animals

Words and Expressions

humble adj. B TH; HKBH
push through e Bt
burrow  n. /T

topsoil n.  EEL

Note

It is estimated that in one year fifty thousand earthworms carry about eighteen
7



tons of fine soil to the surface of an acre of land.
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Passage 5

What do we see when we look up in the sky? Many times there are only clouds!
But when the clouds are gone, the show begins...

During the day we see the SUN, our star that illuminates and heats our planet!
During the night we see the Moon, our MOON; the rest of the night sky we use to
call “thestars” ...

When man began to search the skies with improved telescopes, what he saw
made him feel very small. Compared with the universe, Earth seemed to be just a
tiny bit of cosmic dust. Earth is only a small planet perched on the edge of the Milky
Way. The Milky Way, our galaxy, has roughly thirty billion stars like our sun. It is
just one of about a hundred million galaxies in the known universe.

Space is so vast and distances are so great that there is a problem in measuring
them. Instead of writing down all the zeros, we describe these distances in light-years.
A light-year is the distance which light, moving at 186,326 miles per second, travels
in one year. ‘ .

Andromeda is the nearest major galaxy to our own Milky Way Galaxy. Our
Galaxy is thought to look much like Andromeda. Together these two galaxies
dominate the Local Group of galaxies. The diffuse light from Andromeda is caused
by the hundreds of billions of stars that compose it. The several distinct stars that
surround Andromeda's image are actually stars in our Galaxy that are well in front of
the background object. Andromeda is frequently referred to as M31 since it is the
31st object on Messier's list of diffuse sky objects. M31 is so distant it takes more
than two million years for light to reach us from there.

1. The improved telescopes showed men that
A. the Milky Way is the only galaxy
B. other galaxies are close to ours
C. the sun is the largest star in the Milky Way
D. the earth is a tiny part of the universe

2. A galaxyisthe namefor ___

A. alarge group of stars B. the sun

C. planets like the earth D. the universe we know
3. Inthe Milky Way wecansee ____ .

A. galaxies B. suns like ours

C. stars like ours D.both B and C
4. Distances in the universe are measured in



A. miles : B. feet and inches

C. light-years D. months and years
5. Our closest neighbor galaxy is as far as

A. more than two million light-years

B. less than two million light-years

C. more than two million kilometers

D. less than two million kilometers

Words and Expressions

illuminate V. B, MR
COSIMiC adj. FHK

roughly  adv.  HEEEH

galaxy n  K{{

Milky Way Galaxy ST ES
Dominate V. Fa.N

Diffuse  adj.  BUTH: REH

Note

Compared with the universe, Earth seemed to be just a tiny bit of cosmic dust.
MFEHMAL, BRUFERRFHERPBN—TB5I

Passage 6

Some years ago, during an election campaign in a large American city, one of
the candidates was having a hard time. Just when he needed all the support, a
well-known wealthy woman announced her support for him. This made things even
worse. His followers described the woman’s act asa “kiss of death” .

The reason was that the woman was not respected. It was known to many that
her riches had come from very questionable business and dealings. Her support for
the candidate could do more harm than good. Soit wasa “kiss of death” .

Where did this phrase come from? The origin can be found in historical
accounts in the Bible. According to a well-known story, Jesus was given away to the
enemy by one of his followers, Judas. The act of giving-away was a kiss. On the
surface it appeared to be a show of deep love, but by doing so, Judas helped the
enemy, who had been looking for Jesus, recognize him easily. Jesus was later nailed
to a wooden cross and put on death. In present day usage, an act of pretended love
that is really intended to do harm is often called a “kiss of death” or a “Judas kiss”.
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